NI=FrvyIRJINIa—
RERARM

SJ b3

#SIVU—X(FEREY TR 3— SBYU—XDEFILFTVIGRTEHD,
SBYU—XEFEBIRENHDET,
CAHERNCEVFH LS  BHOBIEESF CTHOBLEHhELEEL,
KSIRTIZRERISBRINNT R, AT EHRRRAISBRI,
MERRIBFZWHEEHEA R,

A

BXFT SRR
SJ06A1-80

Ya—DeEERT., BEYI-ICERRTEHDELA,
RTMEE RETUEERT.

L— 1ty rDEERT, - =345 G@YTHA T=24 CYTA)Q=44 (4YTH)
RTENMWHE D GMFER) = 2MF&) =1 4T+&)

tL—2a Y FERY, 1=1.5mmX60" .2=3mmX60°
#ESEEE  1=1.5mmX60", 2=3mmX60°

——— MR BEHERT,

A=EWAL.B=IUEYHY L=EER N=H%

C=Ja—BRIVIEY FRAY (BF vy 7R TRLEDIHE)
724" = 15mm.h%e5" = 18mm 12" F v ¥ = 38mm

D=DLH

KRR FNRFE

A=THIAR B=fFX L=F=8 N=3E

C=MZEEREEX D (AR SFRERTER)
FZE4ZF=15mm, FE5HEF=18mm 125 FF&E=38mm 15%F£&E=43mm

D=DL&JI+#&

15" F+v v 7 =43mm

SJ04B1

Fry IV X %kT , RAFERYT
INT—F w7 )TN a—%5ET  RAHERFEHRM

BV hUa—5RA%R RMERAE

N-04.AS04.NLO4.NRCO4

SJ04A1-036 | SUO4A1-048
SJO4A1T SJ04A1T048 NTO4,ATO4
SJO4N1 SJO4N1-036 | SUO4NT-048 B-204
SJO4NTT BT204
SJ05B1 SJ05A1-038 | SUOBA1-063 N-05
SJOBATT SJOBA1TO53 NTO5
SJO5N1 SJO5N1-038 | SUOBN1-053 B-205
SJOSN1T BT205
SJ06BB1 SJOBA1-066 N-O6.NLO6,ASO6.NRCO6 | BRO6.BB206.QJRO7
SJOGATT | SUOBA1TOBE NTOB.NLTO6.ATO6 BRTO6.BBT206
SJ06CI UVE160K
SJ06D1 DL206
SJOBL1A B-206.BS306.BL206,.HOH-206
SJO6LI1T BT206.BLT206
SJO8AI SJOBATTO56 | SUOBATTO76 NTO8.NLTO8.ATO8 BRT08.BT208.BBT208.BLT208
SJO8B1 SJOBA1-056 | SUOBA1-076 N-08.NLO8,DL208,AS08,NRCO8 | BRO8,B-208,BB208.BS308.BL208,H0OH-208,QJR08
SJ08B1Q SJO8B1Q-76 HW-08

SJ10A1-080 NL1O.ASTO.NRCI10

SJT0AT SJT0AT-056 SJT10ATTO80 SJI0AI-T16 NTT10.NLTT0.AT10 BRT10.BT210.BBT210.BLT210
SJ10B1 SJ10A1-056 | SJ10A1-080 |SJT0AT-116 |N-10 BR10,B-210,BB210,85310,BL210,HOH-10K,QJR10, UVE200K, UVER50K
SJ10A2Q | SJTOA2Q080 HW-10,HW-12
SJ10D1 DL210
SU12A] SJ12A1-090 N-12.NL12.DL212 HOH-12K

SJ12A1T090 NLT12
SJ12C1 UVE315K
SJI12N1 SJ12N1-090 BR12,B-212,BB212,BL212,QJR12,BT212.BBT212,BLT212
SJ15C1 SJ16C1-110 B-15.B-18.HOH-15K
SJ16A2 UVE400K
SJ15A2Q HW-15
SJ16N1 SJ16N1-110 N-15.N-18 B-215
SJ18A2 |SJ18A2-110 N-21.N-24 B-21.B-24
SBO6BB | SBO6BB-040 QB306
SBO8BB | SBO8BB-056 QB308
SB10BB | SB10BB-060 QB310
SB12BB | SB12BB-070 QB312
PW-06 PW-06
PW-08 PW-08
PW-10 PW-10
PW-12 PW-12
PW-15 PW-15




(Pditagawa

WiEEY T hMa—HSER H SMERAR
FHERMASERE FHERMASEHE

Fpy IR YIIYI-BR ﬂyﬁmm FpyoBX YI7hya-BL BIFRILL EAE A, BMER

£RES CmmEs gt ~ERES RNES  REER mREMES BMES

BRO6 SJOBB1 I\/HO><25 NLO4 SJO4B1 M8 %22 SJ04B1 SJO4A1-036 SJ0O4A1-048

BRO8 SJO8B1 M12x30 | NLOB SJOBB1 M10x30 SJU04A1T* | SJO4A1TO48%

BR10 SJ10B1 | M12x30 | NLO8 SJO8B1 [M12x35

BRI12 SJ12N1T | M16x35 |[NL1O SJ10AT [M12x35 SO SJO4NT-036  SJOANT-048
NL12 SJ12A1 [M14x45

B-204 SJO4NT [M8x20 [NL18 SJ1BN1 | M20X55 SJOSBI SJO5AT-038 SJOSAT-053

B-205 SJOBNT | M8x20 SJOBA1T* |SJOBATTOS3%

B-206 SJOBLTA [M10X25 |NTO4 SJO4ATT [ MBXx22 SJOBN1 sJO5N1-038 SJOBN1-053

B-208 SJOSB1 | M12x30 |NTO5 SJOBA1T | M8x22

B-210 SJ10B1 | M12x30 [NT156 SJ12N1 [ M20x55

B212  |SJI2NT |MI6x40 LB SJOBA1-066

B-215 SJ15NT | M20x55 [NLTO6 | SJOBATIT [M10x25 SJOBATTX | SJOBATTOE6
NLTO8 [SJOSAT |M12x30

B-15 SJ15CT | M20x60 [NLT10 SJ10AT |M12X35 SJO8B1 SJO8A1-056 SJO8A1-076

B-18 SJ15CT |M20xB0 [NLT12 | SJ12A1 |M14x45 SJ0BB1Q | SJOBBIQ76

B-21 SJ18A2 |[M20x60

= S 5As o000 S SJo6BT TVTOXES SJOBA1 SJOBA1-056 SJ08A1-076 SJOBAITOS6% SJOSATTO76%
MLO8 SJO8B1 |[M12x30

BB206  1SJ06BT |M10x25 SJ10B1 (A1) |SJ10A1-056 SJT0A1-080 SJ10AT-116 SJ10A1TO8D%

BB20S |SJO8B1 |M12x30 [MLTOB | SJOBAIT |[M10x25 SJ10A2Q |SJ10A2Q080

BB210 |SJ10B1 |M12x30 [MLTO8 |SJOSAT |M12x30

BESIENN SJ12N1 [ M16x35 SJ12A1 SJ12A1-090 SJ12A1T090%
MLVO6 | SBOBA1V[M10x25

BSE06 | SJOBLIA [M10x25 [MLVO8 | SBOSATV | M12x30 SJ12N1 SJ12N1-090

BS308 | SJO8B1 |M12x30

BS310 | SJ10B1 |M12x30 [HW-08 [SJOSB1Q[M10x25 SJ15C1 SJ15C1-110
HW-10 SJ10A2Q | M12Xx35 SJ15N1 SJ15N1-110

BL206 | SJOBLIA [M10x25 [HW-12 | SJ10A2Q | M12x35

BL208 |SJO8B1 |M12x30 [HW-15 | SJ15A2Q | M14x40

BL210 SJ10B1 | M12X30 52 SJ18A2-110

BL212 |SJ12NT |M16x40 [UVEIBOK | SJOBCT |M12x30
UVE200K |SJ10B1 | M12X30 SBO6BB SB0O6BB-040

HOH-206 | SJOBLTA [M10Xx25 |UVEREOK | SJT0B1 | M12x30 SBOSBB SBO8BB-056

HOH-208 | SJ08B1 |M12Xx30 |UVES15K [SJ12C1 | M14X35 SB10BB SB10BB-060

HOH-10K | SJ10B1 |M12x35 |UVE400K | SJ15A2 | M20x45

HOH-12K | SJ12A1 |M14x45 SB1288 SB128B070

HOH-15K | SJ15C1 | M20x55 |[UB450K | UB450 HHN—IDDOVTVDERE. 25/1EY T,
UB560K | UB5B0K ZDME. 35/12 Y NCDIRFEEEDF T,

QB306 | SBO6BB |- UBB30K | UB710 KA RRINEE R 21Y/E,

QB308 | SBOSBB |- UB710K | UB710 HtR3T/ BRITHE.

QB310 [SB10BB |-

QB312 |SB12BB |- DL206  |SJO6D1 [M10x25 X
DL208 | SJ08B1 |M12x30 H BROSEH /IMZFRIERY I hYa—

BRTOB | SJOBLIT [M12x30 |DL210  |SJ10D1 | M14x40 BROSEH IhEXiSEHM

BRTO8 |SJOBAT |M12x30 |DL212 |SJ12A1 |M14x40 . =

BRTIO | SJ10A1 |M16x40 Y e Rt s
PW-06 |SBWOB |M10X16 SJ08S1 M12x30| ¢12~210

BT204 [SJO4NIT [M8x20 |PW-08 |SBW0O8 |M12x20

BT205 | SJOBNIT [M8x20 [PW-10 |SBWIO |M16x25

BT206 | SJOBLIT [M10x25 [PW-12  [SBW12 |M16x25

BT208 | SJOBAT |M12x30 |PW-15 |SBW15 |M20x30

BT210 | SJI0AT |M12x30

BT2l2 |SJ12N1T |M16x40 |ASO4 SJ04B1 [ MBx22
AS06 SJ0BB1 | M10x30

BBT206 | SJOBLIT |[M10x25 |ASO8 SJOSB1 | M12x35

BBT208 |SJOBAT |M12x30 |AS10 SJ10A1 | M12x35

BBT210 |SJI0AT |M12x30

BBTR12 |SJ12NT |M16x40 |ATO4 SJO4A1T [MBx22
ATO6 SJOBATT [M10x30

BLT206 |SJOBLIT [M10x25 |ATO8 SJOBAT | M12x35

BLT208 |SJOBAT |M12x30|AT10 SJ10AT |M12x35

BLT210 |SJ10AT |M12x30

BLT212 |SJ12N1T |[M16x40 |[NRCO4 |SJ04B1 |[M8x22
NRCO6 |SJO6B1 |M10x30

N-04 SJ04B1 [M8x22 |NRCO8 |SJ08B1 |M12x35

N-05 SJOBB1 |[M8x22 [NRC10 |SJ10AT [MI12x35

N-06 SJOBBT | M10x30

N-08 SJ08B1 | M12x35 [QJRO7 |SJO6B1 [M10x30

N-10 SJ10B1 [M12x35[QJRO8 [SJOBB1 |[MI12x35

N-12 SJ12A1 [M14x45 [QJR10  |SJ10B1 |M12x35

N-15 SJ1BNT [M20x55 [@JR12  [SJ12NT [M16x45

N-18 SJ1BNT | M20x55

N-21 SJ18A2 | M20x60

N-24 SJ18A2 | M20X60




SZH1 £EA1 SZM?2 SEE2 SEZM3 SEE2

120° TED/Ny Fo TEMIEIELE
L A i "FIE’JT‘UE?#S%“B?J TR
e O OEET T % B
3 i ol T fo b By
s-1 S-2 o = /"‘Tm
S-6, 57, S8 ‘
i 1 I S-1
- i J - | S-6 S-5 S-2
@ o)
b
— W

S-4

5-9 tl—var  S-4

B V7D hUa—TiER RMHPERRT

VI hYa—ERK

t-yats; BEQ
RS LoEE = : el : ; : 512 S14 S5 gpuE sim

SJ04B1 55 23 25 10 4 13 14 28 135 8.5 16 M8 3 13 1.5x60° 2
SJO4A1-036 55 23 36 10 4 13 14 28 135 8.5 27 M8 1.5x60° 1
SJ04A1-048 55 23 48 10 4 13 14 28 135 8.5 39 YIS} 1.5x60° 1
SJO4A1T 315 23 25 10 4 13 14 28 135 8.5 16 M8 1.5x60° 1
SJ04A1T0O48 55 23 48 10 4 13 14 28 135 8.5 39 M8 1.5x60° 1
SJO4N 1 495 23 23 10 4 10 14 2565 135 8.5 145 M8 4 1.5X60° 2
SJOANTT 495 23 23 10 4 10 14 255 1356 8.5 145 M8 1.5X60" 1
SJO4N1-036 495 23 36 10 4 10 14 265 135 8.5 275 M8 1.5x60° 1
SJO04N1-048 495 23 48 10 4 10 14 255 135 8.5 395 M8 1.5x60° 1
SJO5B1 62 23 27 10 4 14 19 28 135 8.5 18 M8 12 14 15x60° 2
SJO5A1-038 62 23 38 10 4 14 19 29 135 8.5 29 M8 1.5X60" 1
SJO5A1-053 62 23 53 10 4 14 19 29 135 8.5 44 M8 1.5X60° 1
SJO5ATT 62 23 27 10 4 14 19 29 135 8.5 18 M8 1.5x60° 1
SJO5A1TO53 62 23 53 10 4 14 1€ 29 135 8.5 44 M8 1.5x60° 1
SJO5N1 54 23 25 10 4 12 14 28 135 8.5 165 M8 5 1.5x60° 2
SJOBNI1T 54 23 25 10 4 12 14 28 135 8.5 165 M8 1.5x60° 1
SJOB5N1-038 54 23 38 10 4 12 14 28 135 8.5 295 M8 1.5x60° 1
SJO5N1-053 54 23 53 10 4 12 14 28 135 8.5 445 M8 1.5x60° 1
SJ0eB1 72 31 32 12 5 15 20 37 17 11 20 M10 12 15 1.5x60° 2
SJOBA1-066 72 31 66 12 5 15 20 37 17 11 54  MI10 1.5x60° 1
SJOBATT 72 31 32 12 5 15 20 37 17 11 20 M10 1.5x60° 1
SJOBA1TOE6 72 31 66 12 5 15 20 37 17 11 54  MI10 1.5x60° 1
SJ0O6C1 765 40 37 14 5 15 25 36.5 19 13 22 M12 1.5x60° 1
SJO6D 1 72 31 32 12 5 22 20 30 17 11 20 M10 6 16 1.5X60° 2
SJOBLTA 66 26 28 12 5 12 20 34 17 11 16 M10 5 12 1.5x60° 2
SJO6L1T 66 26 28 12 5 12 20 34 17 11 16 M10 1.5x60° 1
SJOBA1 95 35 42 14 5 24 25 46 19 13 27 M12 1.5X60" 1
SJO8BI1 95 35 38 14 5 24 25 46 19 13 23 M12 12 20 1.5x60° 2
SJ08S1 95 35 38 14 5 195 25 505 19 13 23 M12 9 20 1.56x60° 2
SJO8A1-056 95 35 56 14 5 24 25 46 19 13 4] M12 1.5x60° 1
SJO8A1-076 95 35 76 14 5 24 25 46 19 13 61 M12 1.5x60° 1
SJO8B1Q 90 31 38 12 5 24 20 46 17 11 26 M10 16 24 15x60° 2
SJO8B1Q-76 90 31 76 12 5 24 20 46 17 11 64 MI10 16 24 15x60° 2
SJOBA1TO56 95 35 56 14 5 24 25 46 19 13 41 M12 1.5x60° 1
SJOBA1TO76 95 35 76 14 5 24 25 46 19 13 61 M12 1.5x60° 1
uB450 165 62 66 255 8 37 43 85 32 21 43 M20 3.0x60° 1
UB560K 180 65 692 255 8 395 60 805 32 21 453 M20 3.0x60° 1
UB710 2095 75 80 30 g 40 60 1095 39 26 55 mM24 3.0x60° 1




SER., 2 EL—Ya Ve
SEFL 2EE4S SEE,2 FEEREH

EvF1.5 $Bi81.5
RO.1

#90.25
£0.25 Ey 73 N3
|R0.1
of o] 0\/
[SUFASVE .
m .
S 60
#30.35
£90.35

VTN 3—HI5 el

-y =
TR S-1 S-2 S-3 - = S-9 8510 S11 512 814 S15 e 2@

SJ10B1 110 40 42 16 5 30 30 50 19 13 27 Mi2 15 20 1.5x60° 2
SJ10A1 110 40 42 16 5 30 30 50 19 13 27 Mi12 1.5X60° 1
SJ10A1-056 110 40 56 16 5 30 30 50 19 13 41 Mi12 1.5X60° 1
SJ10A1-080 110 40 80 16 5 30 30 50 1€ 13 65 Mi12 1.5X60° 1
SJ10A1-116 110 40 116 16 5 30 30 50 19 13 101 Mm12 1.5x60° 1
SJ10A2Q 110 40 42 16 6 30 30 50 19 13 26 M12 3.0x60° 1
SJ10A2Q080 | 110 40 80 16 6 30 30 50 19 13 64  M12 3.0x60° 1
SJ10A1TO80 110 40 80 16 5 30 30 50 19 13 65 M12 1.5X60° 1
SJ10D1 1015 45 45 18 5 225 30 49 22 15 25 M14 15 175 1.5X60° 2
SJ12A1 129 50 50 18 5 39 30 60 22 15 30 M14 1.5X60° 1
SJ12A1-090 129 50 90 18 5 39 30 60 22 15 70 M14 1.5X60° 1
SJ12C1 129 50 50 18 5 32 38 59 22 15 35 M14 1.5x60° 1
SJ12A1TO90 129 50 90 18 5 39 30 60 e 15 70 M14 1.5x60° 1
SJ12N1 111 50 50 21 4 21 30 60 25 17 33 M16 1.5X60° 1
SJ12N1-090 111 50 90 21 4 21 30 60 25 17 73 M16 1.5x60° 1
SJ15C1 165 62 66 22 8 37 43 85 32 21 42 M20 1.5X60° 1
SJ156C1-110 165 62 110 22 8 37 43 85 32 21 86 M20 1.5X60° 1
SJ156A2 156 62 70 22 g 36 60 60 32 21 45 M20 3.0x60° 1
SJ16A2Q 129 50 50 18 6 32 38 59 22 15 34 M4 3.0x60° 1
SJ16C1T 165 62 66 22 8 37 43 85 32 21 42 M20 1.5x60° 1
SJT16N1 135 50 60 255 5 26 43 66 32 21 39 M20 1.5x60° 1
SJ16N1-110 135 50 110 255 5 26 43 66 32 21 89 M20 1.5X60° 1
UVES00AR 210 65 100 25 9 40 60 110 32 21 75 M20 3.0x60° 1
SJ18A2 180 65 70 25 g 40 60 80 32 21 45 M20 3.0xX60° 1
SJ18A2-110 180 65 110 25 9 40 60 80 32 21 85 M20 3.0x60" 1
SBO6GBB 90 32 30 24 54 36 68 5 3
SBO6BB-040 90 32 40 24 54 36 68 5 3
SBO8BB 106 37 38 28 64 42 76 14 3
SBO8BB-056 106 37 56 28 64 42 76 14 3
SB10BB 125 42 42 31 76 49 88 26 3
SB10BB-060 125 42 60 31 76 49 88 26 3
SB12BB 139 42 50 34 90 49 92 30 3
SB12BB-070 139 42 70 34 90 49 92 30 3
PW-06 675 508 51 3807 33 15 2936 2314 17 11 424  M10 8 120° 4
PW-08 74 57 5747 4445 33 15 34.14 2486 20 135 47 M12 41 90 4
PW-10 895 70.1 702 ©57.1 3.3 19 4445 26.05 @25 17 59 M16 4
PwW-12 10856 70.1 702 57.1 3.3 19 4445 4505 @25 17 59 M16 4
PW-15 140 762 765 6662 33 238 5398 6212 32 21 612 M20 4




	SJ 系列

